

On Certain Conditions of Geometric Functions for the Generalized Hypergeometric Functions

Chena Ram¹ and Garima Agarwal²

²Research Scholar, Department of Mathematics and Statistics, Jai Narain Vyas University, Jodhpur, Rajasthan, INDIA.

Corresponding Addresses:

¹crc2007@rediffmail.com, ²garima.msc.phd@gmail.com

Research Article

Abstract: The aim of the present paper is to obtain sufficient conditions for the function $z {}_3R_2(\varphi, a, b; c, d; k; z)$ for its belongingness to certain subclasses of starlike and convex functions. Similar results, using integral operator, are also obtained.

Key words: Starlike Functions, Convex Functions, Hypergeometric Functions, Clausenian Hypergeometric functions, Integral operator.

1. Introduction

Let T denote the class consisting of functions $f(z)$, given by

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0), \quad (1.1)$$

which are analytic and univalent in the open unit disk $U = \{z: |z| \leq 1\}$.

Let $T(\lambda, \alpha)$ is the subclass of the class T . Which has functions satisfying the condition

$$\operatorname{Re} \left\{ \frac{z f'(z)}{\lambda z f'(z) + (1-\lambda) f(z)} \right\} > \alpha, \quad (1.2)$$

for some $\alpha (0 \leq \alpha < 1)$, $\lambda (0 \leq \lambda < 1)$ and for all $z \in U$.

Also let $C(\lambda, \alpha)$ denote the subclass of T constituted by functions those satisfy the condition

$$\operatorname{Re} \left\{ \frac{f'(z) + z f''(z)}{f'(z) + \lambda z f''(z)} \right\} > \alpha, \quad (1.3)$$

for some $\alpha (0 \leq \alpha < 1)$, $\lambda (0 \leq \lambda < 1)$ and for all $z \in U$.

From (1.2) and (1.3), we have

$$f(z) \in C(\lambda, \alpha) \Leftrightarrow z f'(z) \in T(\lambda, \alpha). \quad (1.4)$$

We note that $T(0, \alpha) = T^*(\alpha)$, the class of starlike functions of order $\alpha (0 \leq \alpha < 1)$

and $C(0, \alpha) = C(\alpha)$, the class of convex functions of order $\alpha (0 \leq \alpha < 1)$ (see Silverman[5]).

Following definitions [3] will be required in proving the main results:

$${}_3R_2^k(z) = {}_3R_2(\varphi, a, b; c, d; k; z) = \frac{\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \sum_{n=0}^{\infty} \frac{(\varphi)_n \Gamma(a+kn) \Gamma(b+kn)}{\Gamma(c+kn) \Gamma(d+kn)} \frac{z^n}{(n)!}, \quad (1.5)$$

where

$$|z| < 1, k > 0.$$

If we set $b = d$, then the generalized hypergeometric function ${}_3R_2^k(z)$ reduces to the result due to Virchenko, Kalla and Zamel [6], as

$${}_2R_1^k(z) = {}_2R_1(\varphi, a; c; k; z) = \frac{\Gamma(c)}{\Gamma(a)} \sum_{n=0}^{\infty} \frac{(\varphi)_n \Gamma(a+kn)}{\Gamma(c+kn)} \frac{z^n}{(n)!}. \quad (1.6)$$

For $k = 1$, (1.5) reduces to the Clausenian hypergeometric function studied by Saxena and Kalla [4]

$${}_3F_2(\varphi, a, b; c, d; z) = \sum_{n=0}^{\infty} \frac{(\varphi)_n (a)_n (b)_n}{(c)_n (d)_n} \frac{z^n}{(n)!}, \quad (1.7)$$

and for $k = 1$, (1.6) reduces to the Gauss hypergeometric function

$${}_2F_1(\varphi, a; c; z) = \sum_{n=0}^{\infty} \frac{(\varphi)_n (a)_n}{(c)_n} \frac{z^n}{(n)!}. \quad (1.8)$$

In the present paper we shall use the following lemmas, see Altintas and Owa [1].

Lemma 1. A function $f(z)$ of the form (1.1) is in the class $T(\lambda, \alpha)$, if and only if

$$\sum_{n=2}^{\infty} (n - \lambda \alpha n - \alpha + \lambda \alpha) a_n \leq (1 - \alpha). \quad (1.9)$$

Lemma 2. A function $f(z)$ of the form (1.1) is in the class $\mathcal{C}(\lambda, \alpha)$, if and only if

$$\sum_{n=2}^{\infty} n(n - \lambda \alpha n - \alpha + \lambda \alpha) a_n \leq (1 - \alpha). \quad (1.10)$$

Main Results

Theorem 2.1. If $k \in \mathbb{R}$, ($k > 0$), then ${}_3R_2(\varphi, a, b; c, d; k; z)$ is in the class $T(\lambda, \alpha)$, if and only if

$$(1 - \lambda \alpha) {}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) + (1 - \alpha) {}_3R_2(\varphi, a, b; c, d; k; 1) \frac{\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{(\varphi)\Gamma(c)\Gamma(d)\Gamma(a+k)\Gamma(b+k)} \leq 0. \quad (2.1)$$

Proof: Since

$${}_3R_2(\varphi, a, b; c, d; k; z) =$$

$$z - \left| \frac{(\varphi)\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \right| \sum_{n=2}^{\infty} \frac{(\varphi+1)_{n-2} \Gamma(a+k+k(n-2)) \Gamma(b+k+k(n-2))}{\Gamma(c+k+k(n-2)) \Gamma(d+k+k(n-2))} \frac{z^n}{(1)_{n-1}}, \quad (2.2)$$

by Lemma 1, it is sufficient to prove that

$$\sum_{n=2}^{\infty} (n - \lambda \alpha n - \alpha + \lambda \alpha) \frac{(\varphi+1)_{n-2} \Gamma(a+k+k(n-2)) \Gamma(b+k+k(n-2))}{\Gamma(c+k+k(n-2)) \Gamma(d+k+k(n-2)) (1)_{n-1}} \leq \left| \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \right| (1 - \alpha).$$

Now we have

$$\begin{aligned} & \sum_{n=2}^{\infty} (n - \lambda \alpha n - \alpha + \lambda \alpha) \frac{(\varphi+1)_{n-2} \Gamma(a+k+k(n-2)) \Gamma(b+k+k(n-2))}{\Gamma(c+k+k(n-2)) \Gamma(d+k+k(n-2)) (1)_{n-1}} \\ &= (1 - \lambda \alpha) \sum_{n=2}^{\infty} (n) \frac{(\varphi+1)_{n-2} \Gamma(a+k+k(n-2)) \Gamma(b+k+k(n-2))}{\Gamma(c+k+k(n-2)) \Gamma(d+k+k(n-2)) (1)_{n-1}} \\ & - (1 - \lambda) \alpha \sum_{n=2}^{\infty} \frac{(\varphi+1)_{n-2} \Gamma(a+k+k(n-2)) \Gamma(b+k+k(n-2))}{\Gamma(c+k+k(n-2)) \Gamma(d+k+k(n-2)) (1)_{n-1}} \\ \text{i.e.} \quad &= (1 - \lambda \alpha) \sum_{n=0}^{\infty} (n + 2) \frac{(\varphi+1)_n \Gamma(a+k+kn) \Gamma(b+k+kn)}{\Gamma(c+k+kn) \Gamma(d+k+kn) (1)_{n+1}} \\ & - (1 - \lambda) \alpha \sum_{n=0}^{\infty} \frac{(\varphi+1)_n \Gamma(a+k+kn) \Gamma(b+k+kn)}{\Gamma(c+k+kn) \Gamma(d+k+kn) (1)_{n+1}} \\ \text{i.e.} \quad &= (1 - \lambda \alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n \Gamma(a+k+kn) \Gamma(b+k+kn)}{\Gamma(c+k+kn) \Gamma(d+k+kn) (1)_n} \\ & + (1 - \alpha) \sum_{n=1}^{\infty} \frac{(\varphi)_n \Gamma(a+kn) \Gamma(b+kn)}{(\varphi)\Gamma(c+kn)\Gamma(d+kn)(1)_n}, \end{aligned}$$

which on using (1.5) yields

$$\begin{aligned} &= (1 - \lambda \alpha) {}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) \frac{\Gamma(a+k)\Gamma(b+k)}{\Gamma(c+k)\Gamma(d+k)} \\ & + (1 - \alpha) [{}_3R_2(\varphi, a, b; c, d; k; 1) \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} - \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)}] \leq \left| \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \right| (1 - \alpha). \end{aligned}$$

The theorem is completely proved.

Corollary 1. ${}_3F_2(\varphi, a, b; c, d; z)$ is in the class $T(\lambda, \alpha)$, if and only if

$$(1 - \lambda \alpha) {}_3F_2(\varphi + 1, a + 1, b + 1; c + 1, d + 1; 1) + (1 - \alpha) {}_3F_2(\varphi, a, b; c, d; 1) \frac{(c)(d)}{(\varphi)(a)(b)} \leq 0. \quad (2.3)$$

Proof. If we set $k=1$ in (2.1), the proof is completed.

Corollary 2. ${}_2R_1(\varphi, a; c; k; z)$ is in the class $T(\lambda, \alpha)$, if and only if

$$(1 - \lambda \alpha) {}_2R_1(\varphi + 1, a + k; c + k; k; 1) + (1 - \alpha) {}_2R_1(\varphi, a; c; k; 1) \frac{\Gamma(a)\Gamma(c+k)}{(\varphi)\Gamma(c)\Gamma(a+k)} \leq 0. \quad (2.3)$$

Proof. If we set $b = d$ in (2.1), the proof is completed.

Theorem 2.2. If $k \in R, (k > 0)$, then

$R_2(\varphi, a, b; c, d; k; z) = z[2 - {}_3R_2(\varphi, a, b; c, d; k; z)]$ is in the class $T(\lambda, \alpha)$, if and only if

$$(1 - \lambda\alpha){}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) \frac{(\varphi)\Gamma(a+k)\Gamma(b+k)}{\Gamma(c+k)\Gamma(d+k)} \\ + (1 - \alpha)[{}_3R_2(\varphi, a, b; c, d; k; 1) - 1] \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} \leq \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} (1 - \alpha). \quad (2.5)$$

Proof.

$$R_2(\varphi, a, b; c, d; k; z) = z - \sum_{n=2}^{\infty} \frac{\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \frac{(\varphi)_{n-1}\Gamma(a+k(n-1))\Gamma(b+k(n-1))}{\Gamma(c+k(n-1))\Gamma(d+k(n-1))(1)_{n-1}} z^n \quad (2.6)$$

By Lemma 1, we need only to show that

$$\sum_{n=2}^{\infty} (n - \lambda\alpha n - \alpha + \lambda\alpha) \frac{(\varphi)_{n-1}\Gamma(a+k(n-1))\Gamma(b+k(n-1))}{\Gamma(c+k(n-1))\Gamma(d+k(n-1))(1)_{n-1}} \leq \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} (1 - \alpha).$$

Now,

$$\sum_{n=2}^{\infty} (n - \lambda\alpha n - \alpha + \lambda\alpha) \frac{(\varphi)_{n-1}\Gamma(a+k(n-1))\Gamma(b+k(n-1))}{\Gamma(c+k(n-1))\Gamma(d+k(n-1))(1)_{n-1}} \\ = \sum_{n=2}^{\infty} [(n-1)(1 - \lambda\alpha) + (1 - \alpha)] \frac{(\varphi)_{n-1}\Gamma(a+k(n-1))\Gamma(b+k(n-1))}{\Gamma(c+k(n-1))\Gamma(d+k(n-1))(1)_{n-1}} \\ \text{i.e.} = (1 - \lambda\alpha)\varphi \sum_{n=1}^{\infty} \frac{(\varphi+1)_{n-1}\Gamma(a+k(n-1))\Gamma(b+k(n-1))}{\Gamma(c+k(n-1))\Gamma(d+k(n-1))(1)_{n-1}} \\ + (1 - \alpha) \sum_{n=1}^{\infty} \frac{(\varphi)_n\Gamma(a+kn)\Gamma(b+kn)}{\Gamma(c+kn)\Gamma(d+kn)(1)_n} \\ = (1 - \lambda\alpha)\varphi \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k(n+1))\Gamma(b+k(n+1))}{\Gamma(c+k(n+1))\Gamma(d+k(n+1))(1)_{n+1}} \\ + (1 - \alpha) \left[\sum_{n=0}^{\infty} \frac{(\varphi)_n\Gamma(a+kn)\Gamma(b+kn)}{\Gamma(c+kn)\Gamma(d+kn)(1)_n} - \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} \right]$$

Hence,

$$(1 - \lambda\alpha){}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) \frac{(\varphi)\Gamma(a+k)\Gamma(b+k)}{\Gamma(c+k)\Gamma(d+k)} \\ + (1 - \alpha)[{}_3R_2(\varphi, a, b; c, d; k; 1) - 1] \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} \leq \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} (1 - \alpha).$$

The proof is completed.

Corollary 3. $F_2(\varphi, a, b; c, d; z) = z[2 - {}_3F_2(\varphi, a, b; c, d; z)]$ is in the class $T(\lambda, \alpha)$ if and only if

$$(1 - \lambda\alpha){}_3F_2(\varphi + 1, a + 1, b + 1; c + 1, d + 1; 1) \frac{(\varphi)(a)(b)}{(c)(d)} \\ + (1 - \alpha)[{}_3F_2(\varphi, a, b; c, d; 1) - 1] \leq (1 - \alpha). \quad (2.7)$$

Proof. If we set $k = 1$ in (2.5), the proof is completed.

Corollary 4. $R_1(\varphi, a; c; k; z) = z[2 - {}_2R_1(\varphi, a; c; k; z)]$ is in the class $T(\lambda, \alpha)$ if and only if

$$(1 - \lambda\alpha){}_2R_1(\varphi + 1, a + k; c + k; k; 1) \frac{(\varphi)\Gamma(a+k)}{\Gamma(c+k)} \\ + (1 - \alpha)[{}_2R_1(\varphi, a; c; k; 1) - 1] \frac{\Gamma(a)}{\Gamma(c)} \leq \frac{\Gamma(a)}{\Gamma(c)} (1 - \alpha). \quad (2.8)$$

Proof. If we set $b = d$ in (2.5), the proof is completed.

Theorem 2.3. If $k \in R, (k > 0)$, then $z{}_3R_2(\varphi, a, b; c, d; k; z)$ is in the class $C(\lambda, \alpha)$, if and only if

$$(1 - \lambda\alpha){}_3R_2(\varphi + 2, a + 2k, b + 2k; c + 2k, d + 2k; k; 1) \frac{(\varphi+1)\Gamma(a+2k)\Gamma(b+2k)}{\Gamma(c+2k)\Gamma(d+2k)} \\ + (3 - \alpha - 2\lambda\alpha){}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) \frac{\Gamma(a+k)\Gamma(b+k)}{\Gamma(c+k)\Gamma(d+k)} \\ + (1 - \alpha){}_3R_2(\varphi, a, b; c, d; k; 1) \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \leq 0. \quad (2.9)$$

Proof. From (2.2), we have

$${}_3R_2(\varphi, a, b; c, d; k; z) =$$

$$z - \left| \frac{(\varphi)\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \right| \sum_{n=2}^{\infty} \frac{(\varphi+1)_{n-2}\Gamma(a+k(n-2))\Gamma(b+k(n-2))}{\Gamma(c+k(n-2))\Gamma(d+k(n-2))} \frac{z^n}{(1)_{n-1}}$$

By Lemma 2, it is sufficient to prove that

$$\sum_{n=2}^{\infty} n(n - \lambda\alpha n - \alpha + \lambda\alpha) \frac{(\varphi+1)_{n-2}\Gamma(a+k(n-2))\Gamma(b+k(n-2))}{\Gamma(c+k(n-2))\Gamma(d+k(n-2))(1)_{n-1}} \leq \left| \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \right| (1 - \alpha)$$

Now we have

$$\begin{aligned} & \sum_{n=0}^{\infty} (n+2)[(n+2)(1-\lambda\alpha) - \alpha(1-\lambda)] \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ &= (1-\lambda\alpha) \sum_{n=0}^{\infty} (n+1)^2 \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ & \quad + (2-\alpha-\lambda\alpha) \sum_{n=0}^{\infty} (n+1) \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ & \quad + (1-\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ &= (1-\lambda\alpha) \sum_{n=0}^{\infty} (n+1) \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ & \quad + (2-\alpha-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ & \quad + (1-\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ &= (1-\lambda\alpha) \sum_{n=0}^{\infty} (n) \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ & \quad + (3-\alpha-2\lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ & \quad + (1-\alpha) \sum_{n=1}^{\infty} \frac{(\varphi)_n\Gamma(a+k+n)\Gamma(b+k+n)}{(\varphi)(c+k+n)\Gamma(d+k+n)(1)_n} \\ &= (1-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)(\varphi+2)_n\Gamma(a+2k+n)\Gamma(b+2k+n)}{\Gamma(c+2k+n)\Gamma(d+2k+n)(1)_n} \\ & \quad + (3-\alpha-2\lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ & \quad + (1-\alpha) \left[\sum_{n=0}^{\infty} \frac{(\varphi)_n\Gamma(a+k+n)\Gamma(b+k+n)}{(\varphi)\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} - \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \right] \\ &= (1-\lambda\alpha) {}_3R_2(\varphi+2, a+2k, b+2k; c+2k, d+2k; k; 1) \frac{(\varphi+1)\Gamma(a+2k)\Gamma(b+2k)}{\Gamma(c+2k)\Gamma(d+2k)} \\ & \quad + (3-\alpha-2\lambda\alpha) {}_3R_2(\varphi+1, a+k, b+k; c+k, d+k; k; 1) \frac{\Gamma(a+k)\Gamma(b+k)}{\Gamma(c+k)\Gamma(d+k)} \\ & \quad + (1-\alpha) {}_3R_2(\varphi, a, b; c, d; k; 1) \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} - (1-\alpha) \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \\ & \leq \left| \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \right| (1-\alpha). \end{aligned}$$

The proof is completed.

Corollary 5. ${}_3F_2(\varphi, a, b; c, d; z)$ is in the class $\mathcal{C}(\lambda, \alpha)$ if and only if

$$(1-\lambda\alpha) {}_3F_2(\varphi+2, a+2, b+2; c+2, d+2; 1) \frac{(\varphi+1)(a)(a+1)(b)(b+1)}{(c)(c+1)(d)(d+1)}$$

$$+(3-\alpha-2\lambda\alpha)_3F_2(\varphi+1, a+1, b+1; c+1, d+1; 1) \frac{(a)(b)}{(c)(d)} \\ +(1-\alpha)_3F_2(\varphi, a, b; c, d; 1) \frac{1}{(\varphi)} \leq 0. \quad (2.10)$$

Proof. If we set $k = 1$ in (2.9), the proof is completed.

Corollary (6). ${}_2R_1(\varphi, a; c; k; z)$ is in the class $C(\lambda, \alpha)$ if and only if

$$(1-\lambda\alpha)_2R_1(\varphi+2, a+2k; c+2k; k; 1) \left[\frac{(\varphi+1)\Gamma(a+2k)}{\Gamma(c+2k)} \right] \\ +(3-\alpha-2\lambda\alpha)_2R_1(\varphi+1, a+k; c+k; k; 1) \frac{\Gamma(a+k)}{\Gamma(c+k)} \\ +(1-\alpha)_2R_1(\varphi, a; c; k; 1) \frac{\Gamma(a)}{(\varphi)\Gamma(c)} \leq 0. \quad (2.11)$$

Proof. If we set $b = d$ in (2.9), the proof is completed.

Theorem 2.4. If $k \in R, (k > 0)$, then

${}_2R_2(\varphi, a, b; c, d; k; z) = z[{}_2R_2(\varphi, a, b; c, d; k; z)]$ is in the class $C(\lambda, \alpha)$ if and only if

$$(1-\lambda\alpha)_3R_2(\varphi+2, a+2k, b+2k; c+2k, d+2k; k; 1) \frac{(\varphi+1)\Gamma(a+2k)\Gamma(b+2k)}{\Gamma(c+2k)\Gamma(d+2k)} \\ +(3-\alpha-2\lambda\alpha)_3R_2(\varphi+1, a+k, b+k; c+k, d+k; k; 1) \frac{\Gamma(a+k)\Gamma(b+k)}{(\varphi)\Gamma(c+k)\Gamma(d+k)} \\ +(1-\alpha)_3R_2(\varphi, a, b; c, d; k; 1) \leq 0. \quad (2.12)$$

Proof. By (2.6) we have

$${}_2R_2(\varphi, a, b; c, d; k; z) = z - \sum_{n=2}^{\infty} \frac{(\varphi)\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \frac{(\varphi+1)_{n-2}\Gamma(a+k+(n-2))\Gamma(b+k+(n-2))}{\Gamma(c+k+(n-2))\Gamma(d+k+(n-2))(1)_{n-1}} z^n \quad (2.13)$$

By Lemma 2, we need only to show that

$$\sum_{n=2}^{\infty} n(n-\lambda\alpha n-\alpha+\lambda\alpha) \frac{(\varphi+1)_{n-2}\Gamma(a+k+(n-2))\Gamma(b+k+(n-2))}{\Gamma(c+k+(n-2))\Gamma(d+k+(n-2))(1)_{n-1}} \leq \left| \frac{\Gamma(a)\Gamma(b)}{\Gamma(c)\Gamma(d)} \right| (1-\alpha). \\ \sum_{n=0}^{\infty} (n+2)[(n+2)(1-\lambda\alpha)-\alpha(1-\lambda)] \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ = (1-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(n+1)^2(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ + (2-\alpha-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(n+1)(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ + (1-\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ = (1-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(n+1)(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ + (2-\alpha-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ + (1-\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_{n+1}} \\ = (1-\lambda\alpha) \sum_{n=0}^{\infty} \frac{(n)(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ + (3-\alpha-2\lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ + (1-\alpha) \sum_{n=1}^{\infty} \frac{(\varphi+1)_{n-1}\Gamma(a+k+n)\Gamma(b+k+n)}{\Gamma(c+k+n)\Gamma(d+k+n)(1)_n} \\ (1-\lambda\alpha)_3R_2(\varphi+2, a+2k, b+2k; c+2k, d+2k; k; 1) \frac{(\varphi+1)\Gamma(a+2k)\Gamma(b+2k)}{\Gamma(c+2k)\Gamma(d+2k)}$$

$$+ (3 - \alpha - 2\lambda\alpha) {}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) \frac{\Gamma(a+k)\Gamma(b+k)}{(\varphi)\Gamma(c+k)\Gamma(d+k)} \\ + (1 - \alpha) [{}_3R_2(\varphi, a, b; c, d; k; 1) - 1] \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \leq \left| \frac{\Gamma(a)\Gamma(b)}{(\varphi)\Gamma(c)\Gamma(d)} \right| (1 - \alpha).$$

The Theorem is completely proved.

Corollary 7. $F_2(\varphi, a, b; c, d; z) = z[2-{}_3F_2(\varphi, a, b; c, d; z)]$ is in the class $\mathcal{C}(\lambda, \alpha)$ if and only if

$$(1 - \lambda\alpha) {}_3F_2(\varphi + 2, a + 2, b + 2; c + 2, d + 2; 1) \frac{(\varphi+1)(a+1)(b+1)(\varphi)(a)(b)}{(c+1)(d+1)(c)(d)} \\ + (3 - \alpha - 2\lambda\alpha) {}_3F_2(\varphi + 1, a + 1, b + 1; c + 1, d + 1; 1) \frac{(a)(b)}{(c)(d)} \\ + (1 - \alpha) {}_3F_2(\varphi, a, b; c, d; 1) \leq 0. \quad (2.14)$$

Proof. If we set $k = 1$ in (2.12), the proof is completed.

Corollary 8. $R_1(\varphi, a; c; k; z) = z[2-{}_2R_1(\varphi, a; c; k; z)]$ is in the class $\mathcal{C}(\lambda, \alpha)$ if and only if

$$(1 - \lambda\alpha) {}_2R_1(\varphi + 2, a + 2k; c + 2k; k; 1) \frac{(\varphi+1)\Gamma(a+2k)}{\Gamma(c+2k)} \\ + (3 - \alpha - 2\lambda\alpha) {}_2R_1(\varphi + 1, a + k; c + k; k; 1) \frac{\Gamma(a+k)}{\varphi\Gamma(c+k)} \\ + (1 - \alpha) {}_2R_1(\varphi, a; c; 1) \frac{\Gamma(a)}{\varphi\Gamma(c)} \leq 0. \quad (2.15)$$

Proof. If we set $b = d$ in (2.12), the proof is completed.

3. An Integral Operator

In this section, we obtain similar results (those obtained in the preceding section) for a particular integral operator $G(\varphi, a, b; c, d; k; z)$ that acts on ${}_3R_2(\varphi, a, b; c, d; k; z)$ we define:

$$G(\varphi, a, b; c, d; k; z) = \int_0^z {}_3R_2(\varphi, a, b; c, d; k; x) dx \quad (3.1)$$

Theorem 3.1. Let $k \in \mathbb{R}, k > 0$. Then $G(\varphi, a, b; c, d; k; z)$ is in the class $\mathcal{T}(\lambda, \alpha)$, if and only if

$$(1 - \lambda\alpha) {}_3R_2(\varphi, a, b; c, d; k; 1) \frac{\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{(\varphi)\Gamma(c)\Gamma(d)\Gamma(a+k)\Gamma(b+k)} \\ - \alpha(1 - \lambda) {}_3R_2(\varphi - 1, a - k, b - k; c - k, d - k; k; 1) \frac{\Gamma(a-k)\Gamma(b-k)\Gamma(c+k)\Gamma(d+k)}{(\varphi-1)\Gamma(c-k)\Gamma(d-k)\Gamma(a+k)\Gamma(b+k)} \\ + \alpha(1 - \lambda) \left[\frac{\Gamma(a-k)\Gamma(b-k)\Gamma(c+k)\Gamma(d+k)}{(\varphi-1)\Gamma(c-k)\Gamma(d-k)\Gamma(a+k)\Gamma(b+k)} \right] \leq 0. \quad (3.2)$$

Proof. Since

$$G(\varphi, a, b; c, d; k; z) = z - \left| \frac{(\varphi)\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \right| \sum_{n=2}^{\infty} \frac{(\varphi+1)_{n-2}\Gamma(a+k+k(n-2))\Gamma(b+k+k(n-2))}{\Gamma(c+k+k(n-2))\Gamma(d+k+k(n-2))} \frac{z^n}{(1)_n} \quad (3.3)$$

By Lemma 1, it is sufficient to prove that

$$\sum_{n=2}^{\infty} (n - \lambda\alpha n - \alpha + \lambda\alpha) \frac{(\varphi+1)_{n-2}\Gamma(a+k+k(n-2))\Gamma(b+k+k(n-2))\Gamma(c+k)\Gamma(d+k)}{\Gamma(c+k+k(n-2))\Gamma(d+k+k(n-2))\Gamma(a+k)\Gamma(b+k)(1)_n} \\ \leq \left| \frac{\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{\Gamma(a+k)\Gamma(b+k)\Gamma(c)\Gamma(d)} \right| (1 - \alpha)$$

Now we have

$$\sum_{n=2}^{\infty} [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(\varphi+1)_{n-2}\Gamma(a+k+k(n-2))\Gamma(b+k+k(n-2))\Gamma(c+k)\Gamma(d+k)}{\Gamma(c+k+k(n-2))\Gamma(d+k+k(n-2))\Gamma(a+k)\Gamma(b+k)(1)_n} \\ = (1 - \lambda\alpha) \sum_{n=0}^{\infty} (n + 2) \frac{(\varphi+1)_n\Gamma(a+k+kn)\Gamma(b+k+kn)\Gamma(c+k)\Gamma(d+k)}{\Gamma(c+k+kn)\Gamma(d+k+kn)\Gamma(a+k)\Gamma(b+k)(1)_{n+2}} \\ - \alpha(1 - \lambda) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+kn)\Gamma(b+k+kn)\Gamma(c+k)\Gamma(d+k)}{\Gamma(c+k+kn)\Gamma(d+k+kn)\Gamma(a+k)\Gamma(b+k)(1)_{n+2}} \\ \text{i.e.} \quad = (1 - \lambda\alpha) \sum_{n=0}^{\infty} \frac{(\varphi+1)_n\Gamma(a+k+kn)\Gamma(b+k+kn)\Gamma(c+k)\Gamma(d+k)}{\Gamma(c+k+kn)\Gamma(d+k+kn)\Gamma(a+k)\Gamma(b+k)(1)_{n+1}} \\ - \alpha(1 - \lambda) \sum_{n=1}^{\infty} \frac{(\varphi)_n\Gamma(a+kn)\Gamma(b+kn)\Gamma(c+k)\Gamma(d+k)}{(\varphi)\Gamma(c+kn)\Gamma(d+kn)\Gamma(a+k)\Gamma(b+k)(1)_{n+1}}$$

on simplification (details are avoided) we get

$$\begin{aligned}
 &= (1 - \lambda\alpha) \left[{}_3R_2(\varphi, a, b; c, d; k; 1) - \frac{\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{(\varphi)\Gamma(c)\Gamma(d)\Gamma(a+k)\Gamma(b+k)} - \frac{\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{(\varphi)\Gamma(c)\Gamma(d)\Gamma(a+k)\Gamma(b+k)} \right] \\
 &- \alpha(1 - \lambda) {}_3R_2(\varphi - 1, a - k, b - k; c - k, d - k; k; 1) \frac{\Gamma(a-k)\Gamma(b-k)\Gamma(c+k)\Gamma(d+k)}{(\varphi-1)_2\Gamma(c-k)\Gamma(d-k)\Gamma(a+k)\Gamma(b+k)} \\
 &+ \alpha(1 - \lambda) \left[\frac{\Gamma(a-k)\Gamma(b-k)\Gamma(c+k)\Gamma(d+k)}{(\varphi-1)_2\Gamma(c-k)\Gamma(d-k)\Gamma(a+k)\Gamma(b+k)} + \frac{(\varphi-1)\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{(\varphi-1)_2\Gamma(c)\Gamma(d)\Gamma(a+k)\Gamma(b+k)} \right].
 \end{aligned}$$

The proof is completed.

Corollary 9. $G(\varphi, a, b; c, d; z)$ is in the class $T(\lambda, \alpha)$, if and only if

$$\begin{aligned}
 &(1 - \lambda\alpha) {}_3F_2(\varphi, a, b; c, d; 1) \frac{(c)(d)}{(\varphi)(a)(b)} \\
 &- \alpha(1 - \lambda) {}_3F_2(\varphi - 1, a - 1, b - 1; c - 1, d - 1; 1) \frac{(c-1)_2(d-1)_2}{(\varphi-1)_2(a-1)_2(b-1)_2} \\
 &+ \alpha(1 - \lambda) \left[\frac{(c-1)_2(d-1)_2}{(\varphi-1)_2(a-1)_2(b-1)_2} \right] \leq 0.
 \end{aligned} \tag{3.4}$$

Proof. If we set $k = 1$ in (3.2), the proof is completed.

Corollary 10. Let $k \in R, k > 0$ then $G(\varphi, a; c; k; z)$ is in the class $T(\lambda, \alpha)$, if and only if

$$\begin{aligned}
 &(1 - \lambda\alpha) {}_2R_1(\varphi, a; c; k; 1) \frac{\Gamma(a)\Gamma(c+k)}{(\varphi)\Gamma(c)\Gamma(a+k)} \\
 &- \alpha(1 - \lambda) {}_2R_1(\varphi - 1, a - k; c - k; k; 1) \frac{\Gamma(a-k)\Gamma(c+k)}{(\varphi-1)_2\Gamma(c-k)\Gamma(a+k)} \\
 &+ \alpha(1 - \lambda) \left[\frac{\Gamma(a-k)\Gamma(c+k)}{(\varphi-1)_2\Gamma(c-k)\Gamma(a+k)} \right] \leq 0.
 \end{aligned} \tag{3.5}$$

Proof. If we set $b = d$ in (3.2), the proof is completed.

Remark 1. We observe that $G(\varphi, a, b; c, d; z) \in C(\lambda, \alpha)$ if and only if

$z {}_3R_2(\varphi, a, b; c, d; k; z) \in T(\lambda, \alpha)$. Thus any result of functions belonging to the class $T(\lambda, \alpha)$ about $z {}_3R_2(\varphi, a, b; c, d; k; z)$ leads to that of functions belonging to the class $C(\lambda, \alpha)$. Hence we obtain the following analogous result to Theorem 2.1.

Theorem 3.2. $G(\varphi, a, b; c, d; z)$ defined by (3.1) is in $C(\lambda, \alpha)$ if and only if

$$\begin{aligned}
 &(1 - \lambda\alpha) {}_3R_2(\varphi + 1, a + k, b + k; c + k, d + k; k; 1) \\
 &+ (1 - \alpha) {}_3R_2(\varphi, a, b; c, d; k; 1) \frac{\Gamma(a)\Gamma(b)\Gamma(c+k)\Gamma(d+k)}{(\varphi)\Gamma(c)\Gamma(d)\Gamma(a+k)\Gamma(b+k)} \leq 0.
 \end{aligned} \tag{3.6}$$

References

1. O.Altintas and S.Owa, On subclass of univalent functions with negative coefficients, Pusan Kyongnam Math.J., 4(1988), 41-56.
2. A.O. Mostafa, A study on starlike and convex properties for hypergeometric functions, Vol.10, Iss.3, Art(87), (2009).
3. R.K.Saxena, Chena Ram and Naresh, Some results associated with a generalized hypergeometric function, Bulletin of Pure and Applied Sciences, vol.24 (2) (2005), 305-316.
4. R.K.Saxena and S.L.Kalla, On a generalized Gamma functions occurring in diffraction theory. Int.J.Appl. Math.5 (2001), 189-202.
5. H.Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51(1975), 109-116.
6. N.Virchanko, S.L.Kalla, A.Al-Zamel, some results on a generalized hypergeometric function, Integral Transforms and spec. Funct. 12(1) (2001), 89-100.